
TO ONLINE INFO

TO ONLINE INFO
TO

 O
N

LIN
E IN

FO

TO
 O

N
LI

N
E 

IN
FO

1959 Kirschner Rd, Kelowna, BC V1Y 4N7
Tel: (778) 478-2232   Toll-Free: (855) 478-2232 

www.jupiteravionics.com

TM

DOC-INST-JA40 Artwork Rev B.pdf

JA40 Installation Kit

Assembly Notes

INST-JA40

9 Pin Connector Assembly

Contents:  
 
JAC P/N DESCRIPTION QTY

CON-3420-0009 CONNECTOR ASSEMBLY 1

CON-5500-0375 TAG RING 1

WIR-HTSK-0750 HEATSHRINK TUBING 1

1.	 Slide Heat-shrink tubing (M12) and Tag Ring (M9) over  
wiring harness.

2.	 Strip outer jacket of shielded conductors approximately 3” from  
connector end.

3.	 Extract conductors through shield at the 3” mark.
4.	 Flatten and face shields pigtails away from connector end.
5.	 Strip and crimp Pins (M11) to wires.
6.	 Insert Pins (M11) into Connector (M10).
7.	 Insert Spring (M4) into Body (M1).
8.	 Place Lock-arm (M3) over Connector (M10) and secure to Body 

(M1) with Screws (M8).
9.	 Place Clamp (M5) around wire harness and secure with screws 

(M6).
10.	 Place Clamp (M5) partially into Body (M1) and secure with Hood 

(M2) and Screws (M7).
11.	 Position Tag-Ring body (M9) on the connector side of the pigtails 

and Tag Ring nut after the pigtails.
12.	 Distribute pigtails uniformly into the Tag Ring (M9) slots. If  

necessary, double back pig-tails to achieve uniform shield thickness 
between adjacent slots.

13.	 Tighten Tag-Ring nut securely. Leave pigtails approximately 1” long 
to facilitate repairs.

14.	 Flatten pigtails against the Tag Ring body and tie behind the nut.
15.	 Slide Heat-Shrink (M12) over the Tag Ring and shrink in place.

Printed in Canada

PART NO.

TITLE

CONFIDENTIAL & PROPRIETARY

JUPITER AVIONICS TEMPLATE SOLIDWORKS LANDSCAPE SIZEA REV B.DRWDOT

INST-JA40

INST-JA40 Assembly Notes (Booklet 9 Pin)  Rev A.SLDDRW
DOC.  NO.

1/1
SHEET

INST-JA40
NCAGE CODE

L00N3

DRAWING NOT TO SCALE
TO JUPITER AVIONICS CORP.

APPROVED

CHECKED

TATPREPARED

N/A
N/AMATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES
ANGLES ARE IN DEGREES
TOLERANCES:
1 DEC PLACE:    0.1
2 DEC PLACE:    0.01
3 DEC PLACE:    0.005
ANGLES:   0.5 DEG

M6

M2

M8

M10

M3

M11
M1

M4

M5

M12

M9

M7

PART NO.

TITLE

CONFIDENTIAL & PROPRIETARY

JUPITER AVIONICS TEMPLATE SOLIDWORKS LANDSCAPE SIZEA REV B.DRWDOT

INST-JA40

INST-JA40 Assembly Notes (Booklet Tag Ring) Rev A.SLDDRW
DOC.  NO.

1/1
SHEET

INST-JA40
NCAGE CODE

L00N3

DRAWING NOT TO SCALE
TO JUPITER AVIONICS CORP.

APPROVED

CHECKED

TATPREPARED

N/A
N/AMATERIAL:

FINISH:

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES
ANGLES ARE IN DEGREES
TOLERANCES:
1 DEC PLACE:    0.1
2 DEC PLACE:    0.01
3 DEC PLACE:    0.005
ANGLES:   0.5 DEG

ITEM NO. DESCRIPTION QTY*
M1 BODY 1
M2 HOOD 1
M3 LOCKARM 1
M4 SPRING 1
M5 CLAMP 2
M6 CLAMP SCREW 2
M7 FLATHEAD SCREW 2
M8 PANHEAD SCREW 2
M9 TAG RING 1
M10 CONNECTOR 1
M11 PINS 9 to 50
M12 HEATSHRINK TUBING 2”
 *Quantities Per Cable

Tag Ring Assembly

Standard D-Sub Crimp Tool Chart

TOOL TYPE HAND CRIMPING TOOL POSITIONER INSERTION/EXTRACTOR TOOL

POSITRONIC 9507-0-0-0 9502-5-0-0 4711-2-0-0

DANIELS AFM 8 K13-1 91067-2

MIL-SPEC M22520/2-01 M22520/2-08 M81969/1-02


